Canonical Ensemble: Physical significance of statistical quantities



Programme: B. Sc. Physics

Semester: VI

Dr. Ajai Kumar Gupta

Professor
Department of Physics
Mahatma Gandhi Central
University
Motihari-845401, Bihar

E-mail: akgupta@mgcub.ac.in

Physical significance of various statistical quantities When a system is in equilibrium in thermal contact of heat reservoir and has a specified mean energy U, then the canonical distribution is given by $P_{r} = \frac{m_{r}}{N} = \frac{\exp(-13E_{r})}{\sum \exp(-13E_{r})} - 0$ Its mean

If we define
$$Z = \sum \exp(-\beta E_r)$$
 then
$$U = -\frac{\partial}{\partial p} \ln z$$
The quantity $Z = \sum \exp(-\beta E_r)$ is called a converse to the solution.

The quantity $Z = \sum exp(-pEr)$ is called as canonical portition function. It is "sum sver states". It is representing the way is which Z measures how energy is distributed or partitioned among states of the system. We know that Helmholtz free energy of the system.

F(T,V,N) = V-TS -- @

 $F(T,V,N) = V-TS -- \mathfrak{I}$ dF = dV = TdS - SdT = TdS - PdV + MdN -TdS - SdT = -SdT - PdV + MdN

and
$$U = F + TS$$

$$= F - T \left(\frac{\partial F}{\partial T} \right)_{N,V}, \quad P = -\left(\frac{\partial F}{\partial V} \right)_{N,T}, \quad u = \left(\frac{\partial F}{\partial N} \right)_{V,T}$$

$$= -T^2 \left(\frac{\partial F}{\partial T} \right)_{N,V} = \left(\frac{\partial (F)}{\partial (F)} \right)_{N,V} - G$$
Companing (2) and (3).
$$B = \frac{1}{KT} \quad \text{and} \quad -\frac{F}{KT} = \ln \left[\sum \left\{ \exp \left(-BE_{v} \right) \right\} \right]_{N,V}$$

$$K \text{ is Boltzmann Constant.}$$

$$F(N,V,T) = -KT \ln Z(N,V,T)$$
Specific heat calculus at constant volume

Specific heat comparity at constant volume $C_V = \left(\frac{\partial U}{\partial T}\right)_{N,V} = -T\left(\frac{\partial^2 F}{\partial T^2}\right)_{N,V} = \frac{\partial F}{\partial T}_{N,V}$

Gibb's free energy
$$G = F + PV$$

$$= F - V(\frac{\partial F}{\partial V})_{N,T}$$

$$= N(\frac{\partial F}{\partial N})_{V,T} = NU$$

$$= -UT \ln Z + VTV(\frac{\partial \ln Z}{\partial V})_{N,T}$$
We have $P_r = \frac{\exp(-\beta E_r)}{Z}$

$$\therefore \ln P_r = -\ln Z - \beta E_r$$

$$\therefore \langle \ln P_r \rangle = -\ln Z - \beta \langle E_r \rangle$$

$$= |\beta (F - U)|$$

$$= |\beta (-TS)| = -\frac{S}{K}$$

therefore entropy of a physical system is completly determined by probability values fr.

$$S = -K \langle ln R_r \rangle$$

$$= -K \left[-ln Z - P_0 \langle E_r \rangle \right]$$

$$= K ln Z + K P_0 \langle E_r \rangle$$

$$= K ln Z + K P_0 U = K ln Z + V_T$$

Value of 10

$$S = K \ln z + K \beta U$$

$$\frac{\partial S}{\partial v} = \frac{1}{T} \implies \frac{\partial (K \ln z)}{\partial U} + K \beta + K U \frac{\partial \beta}{\partial U} = \frac{1}{T}$$

Now
$$\frac{\partial}{\partial v}(k \ln z) = \frac{\partial}{\partial \beta}(k \ln z) \cdot \frac{\partial \beta}{\partial v}$$

$$= \frac{\partial \beta}{\partial v} \cdot \frac{k}{z} \cdot \frac{\partial z}{\partial \beta}$$

$$= \frac{\partial \beta}{\partial v} \cdot \frac{k}{z} \cdot \left[-\sum_{r} E_{r} \exp(-\beta E_{r}) \right]$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta}{\partial v} \cdot k \cdot \langle E_{r} \rangle$$

$$= -\frac{\partial \beta$$

Pressure

$$P = -\left(\frac{\partial F}{\partial v}\right)_{T}$$

$$= KT\left(\frac{\partial (\ln z)}{\partial v}\right)_{T}$$

En thal by

$$= KT^{2} \left(\frac{\partial \ln z}{\partial T} \right) + V KT \left(\frac{\partial \ln z}{\partial V} \right)_{T}$$

$$= KT \left[T \left(\frac{\partial \ln z}{\partial T} \right) + V \left(\frac{\partial \ln z}{\partial V} \right)_{T} \right]$$

$$= \frac{\partial}{\partial B} \left(\frac{E}{KT} \right) + V \left\{ -\left(\frac{\partial F}{\partial V} \right)_{T} \right\}$$

$$= \frac{\partial}{\partial p} (pF) - \sqrt{\frac{\partial F}{\partial v}} +$$

Systems consisting of degenerate energy levels If the energy benefs accessible to a system are degenerate i.e a group of gr states belong to the same energy terel En then partition function of the system is Z = 2 9, exp (-BEr) probability Prthat the system be in a state with energy Er is $P_{\gamma} = \frac{g_r \exp(-\beta E_r)}{\sum g_r \exp(-\beta E_r)}$ grexp(-BEr) All the gr states with common energy Er

one equally likely to occur. The forobability

that the system be in the state with energy Er is proportional to multiplicity of the energy bend. So gracts as weight forter for the energy bevel Er. The actual probability is determined by weight factor & as well as Boltzmann factor exp (-BEr).

Ensemble overage of a Physical Quantity

The ensemble overage <f> of a physical

where P(a,b) is the density of representative points in phase space or phese space density in Canonical ensemble.

It is a measure of the probability of finding a representative point in the vicinity of phase point (a, b). In Canonical ensemble f(2,1) x exp { 13 H(2,1)} $\int f(a,b) e \times b \int -\beta H(a,b) \int d^{3N} d^{3N} d^{3N}$ $\{\exp\{-p H(q, p)\}\}d^{3N}$ where dond = dw is the volume element in the phase space.

References:

- Statistical Mechanics by R. K. Pathria
- Statistical Mechanics by B. K. Agarwal and M. Eisner
- An Introductory Course of Statistical Mechanics by P. B. Pal
- Elementary Statistical Physics by C. Kittel
- Fundamentals of Statistical and Thermal Physics by F. Reif
- Statistical and Thermal Physics by R. S. Gambhir and S. Lokanathan

Thank You

For any questions/doubts/suggestions and submission of assignments

Write at E-mail: akgupta@mgcub.ac.in